
 The sweet Daisy. -- [Altered Pattern 10/21/2024] 

 

Aly Hymel © January 2003 [made original pattern] 

Materials: 

Cotton thread # 10 Any color of your choice. 

Hook 1.40 mm steel hook 

Size:  11 ½ inch diameter doily 

  



Ch 5, join with sl st to form a ring. 

 

Rnd 1: ch 3, (first ch 3 counted as first dc) 15 more dc in ring, join with sl st to top of initial ch3; [Thus, 

15 dc and 1 ch3 for a dc] 

 

Rnd 2: Ch 3, dc in next dc, *ch 3, dc in next 2 dc,* repeat from * to * around, ch3, Join with sl st to top of 

initial ch3. [Thus, 8 groups of 2dc and 8 ch3 groups] 

 

Rnd 3: ch 3, dc in same st, 2dc in next dc, *ch 3, skip next ch 3 sp, 2 dc in next 2 dc, * 

repeat from *to * around ch3, join with sl st to top of initial ch3. 

 

Rnd 4: ch 3, dc in same st, dc in next 2 dc, 2 dc in next dc, *ch 3, sk next ch 3 sp, 2 dc in next dc, dc in 

next 2 dc,  2 dc in next dc,* repeat from *to* around, ch3,  join with sl st to top of initial ch3. 

 

Rnd 5:   Ch 3, dc in same st, dc in next 4 dc, 2 dc in next dc, *ch 3, sk next ch 3 sp, 2 dc in next dc, dc 

in next 4 dc, 2 dc in next dc,* repeat from *to * around, ch3,  join with sl st to top of initial ch3. 

 

Rnd 6: Ch 3, dc in next 7 dc, *ch2, dc in ch3 group, ch2, dc in next 8 dc,* repeat from * to * around, 

ending with [ch2, dc in ch3 group, ch2],  join with sl st to top of initial ch3. 

 

Rnd 7: ch 3, dc in next 7 dc, ch3, dc in dc, ch3, dc in next 8 dc,* repeat from * to* around, ending with 

[ch3, dc in dc, ch3], join with sl st to top of initial ch3. 

 

Rnd 8: Ch 3, dc in same dc, dc in next 6 dc, 2 dc in next dc, *ch [dc, ch, dc, ch, dc] in dc, ch, 2 dc in 

next dc, dc in next 6 dc, 2 dc in next dc,* repeat from * to* around, ending with ch [dc, ch, dc, ch, dc] in 

dc, ch, join with sl st in top of initial ch3.    

 

Rnd 9: Ch 3, dc in next 9 dc, *ch, [2dc in next dc, ch, dc in next dc, ch, 2dc in next dc] ch, dc in next 10 

dc,*  repeat from * to* around,  ending with ch, [2dc in next dc, ch, dc in next dc, ch, 2dc in next dc] ch, 

then join with sl st to top of initial ch3.   

 

Rnd 10: Ch  2, dc in next dc [first dc decrease], dc in next 6dc, next 2dc decrease, *ch2, [2 dc in next 

dc, ch2, dc in dc, ch2, 2 dc in next dc,]  ch2, 2dc decrease,  dc in next 6 dc, decrease using next 2 dc,* 

repeat from * to * around, ending with ch2, [2 dc in next dc, ch2, dc in dc, ch2, 2 dc in next dc,] ch2,  

join with sl st to top of first 2 dc decrease .  

 

Rnd 11: Ch 2, dc in next dc,[ initial decrease] dc in next 4 dc, decrease using next 2 dc, * ch 2, dc in 

next 2 dc, ch4, dc in dc, ch4, dc in next 2 dc, ch 2, Decrease using next 2 dc, dc in next 4 dc, decrease 

using next 2 dc,* repeat from * to * around, ending with ch2, [2dc, ch4, dc in dc, 4dc], ch2, join with sl st 

in top of initial ch2/dc decrease.   

 



Rnd 12: Ch 2, dc in next dc [initial decrease], dc in next 2dc, decrease using next 2 dc,  *Ch 2, [dc in 

next 2 dc, ch 4,  {dc in dc, ch3, dc in same dc making a “V” } ch 4, dc in next 2 dc], Ch 2, decrease 

using next 2 dc, dc in next 2 dc, decrease using next 2 dc,* repeat from * to * around, ch2, ending with 

[dc in next 2dc, ch4, {dc in dc, ch3, dc in same dc making a “V”}, ch4, dc in next 2dc, ch2, join with s st 

in top of initial ch2/dc decrease.   

 

 

Rnd 13:  [ch2, 4dc cluster using the ch2 and next 3 dc for initial leaf point],  *ch2 [2 dc, ch5, 7dc in ch3 

space of “V”, ch5, 2dc,] ch2, 4dc cluster using next 4dc of leaf point,* repeat * to * around, ending with 

ch2, ch2 [2 dc, ch5, 7dc in ch3 space of the “V”, ch5, 2dc,] ch2, join to top of initial ch2/point cluster with 

a slip stitch.  Fasten Off.  Attach yarn to 1st dc of 2dc group just after leaf point. 

 

Rnd 14: ch, sc in join stitch [point of leaf], ch2, * 2dc, ch5, dc in next dc, [ch, dc in next  dc], repeat [ to ] 

5 times more, ch5, 2dc, ch2, sc in tip of leaf cluster, * repeat * to * around, ending with ch2, 2dc, ch5, dc 

in next dc, [ch, dc in next  dc], repeat [ to ] 5 times more, ch5, 2dc, ch2, joint with slip stitch to tip of leaf 

cluster. 

 

Rnd 15: Slip stitch to next dc, ch 3 ( counted as first dc) , dc in next dc, * Ch 5, dc in next 7 dc and in 

each ch 1 sp (total =13 dc), ch 5, dc in next 2 dc,  [ch 3, skip next space, sc, and following space], 

dc in next 2 dc,* repeat * to * around, ch5, 7dc with ch between each, ch5, 2dc, ch3. Join with sl stitch 

to top of initial ch3. 

 

Rnd 16: Ch 3, dc in next dc, *Ch 5, dc in next 13 dc separated by ch 1, ch 5, dc in next 2 dc, ch1, 2dc* 

repeat from * to *, join with sl st to top of initial ch3. 

 

Rnd 17: Ch 3, dc in next dc, * ch 3, dc in next 13 dc separated by Ch 2, ch 3, dc in next 4 dc, repeat 

from *, ending with ch3, 13 dc with ch2 between, ch2,  dc2,  join with sl st to initial ch3.. 

 

Rnd 18:  ch2, dc {creates ½ of 1st 4dc cluster}, ch2 * [dc in next dc, 2dc in space,] repeat [to] 11 more 

times {37dc’s}, ch2, 4dc cluster [point above leaf], ch2,* repeat * to * around, ending with 2dc cluster 

combined with initial 2dc cluster “{second q/2 of 1st dc cluster}  to create one 4dc cluster point joined by 

slip stitch. 

 

Row 19:  ch1, sc in join stitch, ch5, skip 2 stitches, sc,* ch5, skip 2 stitches, sc,* repeat * to * around 

ending with ch5, st st to beginning sc. {This row creates a lacy last row.} 


